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Fxamination, April-2018
BUSINESS MATHEMATICS-1I
Paper-2.02

61151

B.Com. 2nd Semester Pass Course wef Academic
Session 2014-15 onwards (Current Scheme)
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fm’h' allowed - 3 hours |
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Note : Attempt five questions inall. sclectiing one quesuon
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from cach umt. Question No. 1 is compulsory.
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AB+AC.

(b) Find the adjoint of the matrix A
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(¢} At what rate of simple mterest will 5.1

Rs 9250 be 3/5th of it 4 years ?
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Define Annuty Immediate

P .,h,"ﬂ*f‘“.."“"'
b od T 4a-5b dc sd

6025 of a certain number 1s 18.6. Find the number.
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Unit-1
THR—1

2. (a) Construct a 3 = 3 matrix C = [C ], where

121 -3yl . .
C = L “Also find its determinant.
Uy

tJ

. then find k so
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3. (a) Provethat
la+b+2c a b \
c b+c+2a b |: 2(@a+b+c)
| ¢ a c+a+2b

(b) Solve

X+ 8y +Sz-5, X v 7z
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(F) oz #itsm B

la+b+2c a b |
! |
¢ b+c¢+2a
| =2{a+b+c)
¢ a c+a+2b
() 2x+8y+5z2-5 x+y+z2=-2 x+2y-z=-

-
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4. Differentiate the following wort. to x
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(5)

\
LoYx G
(v1) (4x _3)41

3 T |l e 1 waEe Fe

o o) )

v X

) X +1
(“) x: 4+ Ty + |
Xt
(1) 5
Vi+x?
- .
I | 'i | ] hll
vy vx +1-log, ~+ 1+
VN
(v) x%
)
“b
(Vi -J{x (x+4) -
\,I} — — y
(4x - 3)""
5. (a) Find the local maximum and local mmmum ol
the function x* -~ 62x7 ¢ 120 + 9
{by Find the arca ot the largest rectangle havimg th
perimeter of 200 meters
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el x! - 62x° + 120X + 9 F1 #IFR IS T4
AT A | Fis
200 H2¥ F1 WA A1 9ETAR AT H AT
g

Unit-111

TRl 0

A man deposited Rs 5000 in a bank for 3 years. If
he got compound interest at 4% for first year, 3%
for second year and 2% for third ycar, find the
amount he got at the end of 3 years.

The value of machinery depreciates by 5%
annually. If its present value 1s Rs. 2,10.000, find
its value after 4 years,

oF AEdt 3 3 a9 & fae oF 3% 9 5.5000 A
fan | afz 38 mem a4 # fow ave, fadm ad
e 3% @ dmt ad F e 2% W aawﬁe:.
ard o A 3 adt # o A fEn afe e
AL

o ned A 5% srgfEE A 2 AR
qeif 1 aduH 57 §.2,10,000 2 @ 4 76 3
qyar IHF 9 d FIFA)
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Find the amount of an ordinary annnty ol
monthly payments of Rs 1000 that e ann an it
at 1 2% per yvear componinded monthly

A man borrows Ka 6000 at 6" w and promises
pay off the loan tn 20 annual payments hepginnn
at the end of the first year. What 1s the annu
payment necessary 7

£.1000 F1 12 M qraEt aefl o qene
qifeFl s wifgs dRbE 89 aen gfaad 1
qv @ s{tHa w2, gad afg | Fien
0% HIEH 6% T %, 6000 T HAd # 37 e
99 3 S g #F AW 20 S I 8
B FE A F AT B 2| AE@AE A
PIAA F1 2PN 7

Unit=1V
TFR-IV
2ab x+a x+b
If x . find the value of
a+b x a4 x b
[ra c e I
—=-—=— nrove that
b d P
(1) (ad ved tety (a7 v el el
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t .
Gy STEONTY o mim oaa g, afn
a x-b
2ab o
X = el
a+b
a ¢ ¢ : -
() af - Ll : A e Fi @
i} [

(1 (ad ~cd +ef) —(a"+ ¢ e )b o d 1)

a +¢ +¢ ~ace

(i) b'+d' + 17  hdf

{a) In an Examination, 40% students fail in

-
b
®

Mathematics and 30% fail in English and 20%
both Find the pass percent.

(b) A dealar sold two coolers at Rs. 2970 each. On
selling one cooler he gained 10% and on sclling

the other he lost 10%. Find the dealer’s gain or

loss percent. o

(F) TF THAT H, 0% 9 R T 3130 3T g
q 20% AFT § ST A A ¥ 3 eE &
afe@ @ Fae

(Y UF SR A E. 2070 9erE & fREE A A el
A U AT AT G TH Q0% AT g ql
TP A T3 0% 1 A 22 dET #
A A 2 g @ Fare
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